

ON THE MERSENNE AND MERSENNE-LUCAS HYBRID QUATERNIONS

Engin ÖZKAN^{*,1} and Mine UYSAL²

Abstract

In this paper, we define Mersenne, Mersenne-Lucas hybrid quaternions. We give the Binet's formula, the generating functions, exponential generating functions and sum formula of these quaternions. We find some relations between Mersenne-Lucas hybrid quaternions, Jacobsthal hybrid quaternions, Jacobsthal-Lucas hybrid quaternions and Mersenne hybrid quaternions.

2000 *Mathematics Subject Classification*: 11B37, 11B39, 20G20.

Key words: Mersenne numbers, Mersenne-Lucas numbers, Mersenne hybrid quaternion, Mersenne-Lucas hybrid quaternion.

1 Introduction

Mersenne numbers are named after Marin Mersenne, who studied these numbers in the 17th century. Mersenne numbers are denoted by M_n and have the form $M_n = 2^n - 1$ (A000225). The first few terms of the Mersenne sequence are

$$0, 1, 3, 7, 15, 31, 63, 127, 255, \dots, 2^n - 1, \dots$$

The Mersenne numbers $\{M_n\}_{n=0}^{\infty}$ are defined by the following recurrence relation

$$M_{n+2} = 3M_{n+1} - 2M_n$$

with $M_0 = 0$ and $M_1 = 1$ [1]. The Binet formula of the Mersenne numbers are defined by the following [1]:

$$M_n = 2^n - 1.$$

Similarly, the Mersenne-Lucas numbers $\{m_n\}_{n=0}^{\infty}$ are defined by the following recurrence relation

$$m_n = 3m_{n-1} - 2m_{n-2} \tag{1}$$

^{1*} *Corresponding author*, Department of Mathematics, Faculty of Science, Marmara University, Göztepe Campus, 34722, Kadıköy, Istanbul, Türkiye, e-mail: engin.ozkan@marmara.edu.tr

²Department of Mathematics, Faculty of Arts and Sciences, Erzincan Binali Yıldırım University, Yalnızbağ Campus, 24100, Erzincan, Türkiye, e-mail: mine.uysal@erzincan.edu.tr

with $m_0 = 2$ and $m_1 = 3$ [11].

The Binet formula for Mersenne- Lucas numbers is defined by [11]

$$m_n = 2^n + 1.$$

Mersenne, Mersenne-Lucas numbers have been studied by many authors and associated with other number sequences [1, 3, 4, 8, 11, 13, 14].

Moreover, we know well that the Jacobsthal numbers J_n are defined by the recurrence sequence

$$J_{n+2} = J_{n+1} + 2J_n, \quad n \geq 0$$

with the initial conditions $J_0 = 0$ and $J_1 = 1$.

Similarly, the Jacobsthal-Lucas numbers are defined by

$$j_{n+2} = j_{n+1} + 2j_n, \quad n \geq 0$$

with the initial conditions $j_0 = 2$ and $j_1 = 1$.

Additionally, there exists the following relationships between Mersenne, Mersenne-Lucas, Jacobsthal and Jacobsthal-Lucas. (see [14, 15])

$$\begin{aligned} i) \quad m_n &= \begin{cases} 3J_n, & \text{if } n \text{ is even} \\ 3J_{n+2}, & \text{if } n \text{ is odd} \end{cases} \\ ii) \quad m_n &= \begin{cases} j_n, & \text{if } n \text{ is even} \\ j_{n+2}, & \text{if } n \text{ is odd} \end{cases} \\ iii) \quad M_n &= \begin{cases} 3J_n, & \text{if } n \text{ is even} \\ j_n, & \text{if } n \text{ is odd} \end{cases} . \end{aligned}$$

Quaternions were first described by Irish mathematician William Rowan Hamilton in 1843 and applied to mathematics in three-dimensional space [5]. Quaternions are generalizations of complex numbers and are not commutative. Quaternion algebra finds its application in fields such as robotics, navigation, computer visualization and animation, apart from mathematics. Quaternions are also vital to the control systems that guide airplanes and rockets. Quaternions have generally the following form,

$$q = a + ib + jc + kd$$

where, i, j, k are basis quaternions and a, b, c, d are real numbers [5].

The product rule for quaternion units is shown in Table 1.

.	i	j	k
i	-1	k	$-j$
j	$-k$	-1	i
k	j	$-i$	-1

Table 1: The multiplication of quaternion units

Quaternions have been studied by many researchers and have been studied with other number sequences [7, 9, 10]. Özdemir introduced the hybrid numbers and give some properties of these numbers. [6]. The set of hybrid numbers is

$$K = \{a + bi + c\varepsilon + dh : a, b, c, d \in \mathbb{R}\}$$

The product rule for hybrid units is shown in Table 2.

.	i	ε	h
i	-1	$1 - h$	$\varepsilon + i$
ε	$1 + h$	0	$-\varepsilon$
h	$-\varepsilon - i$	ε	1

Table 2: The multiplication of hybrid units

The authors studied hybrid quaternion numbers in their work in [2] and applied it to many number sequences.

In this paper, we define Mersenne, Mersenne-Lucas hybrid quaternions and give some properties of them. We prove some theorems about Mersenne, Mersenne-Lucas hybrid quaternions. In addition, we find Binet formulas, generating functions, exponential generating functions, sum formulas of these numbers.

2 Preliminaries

The Jacobsthal hybrid number, $\{JH_n\}_{n=0}^\infty$ is defined as

$$JH_n = J_n + J_{n+1}i + J_{n+2}\varepsilon + J_{n+3}h, \quad n \geq 0,$$

where J_n is the n th Jacobsthal number [2].

Similarly, the Jacobsthal-Lucas hybrid number, $\{jH_n\}_{n=0}^\infty$ is defined as

$$jH_n = j_n + j_{n+1}i + j_{n+2}\varepsilon + j_{n+3}h, \quad n \geq 0,$$

where j_n is the n th Jacobsthal-Lucas number [2].

The Mersenne hybrid number, $\{MH_n\}_{n=0}^\infty$ is defined as

$$MH_n = M_n + M_{n+1}i + M_{n+2}\varepsilon + M_{n+3}h, \quad n \geq 0,$$

where M_n is the n th Mersenne number [14].

Let $n \geq 0$ be integer, Mersenne-Lucas hybrid numbers $\{mh_n\}$ for $n = 0, \dots, \infty$ are defined as,

$$mh_n = m_n + m_{n+1}i + m_{n+2}\varepsilon + m_{n+3}h$$

where m_n is n th Mersenne-Lucas number [8].

The Binet formulas of the Mersenne, Mersenne-Lucas hybrid numbers as follows

$$i) MH_n = [2^n (1 + 2i + 4\varepsilon + 8h) - (1 + i + \varepsilon + h)] \text{ (see[14])}, \quad (2)$$

$$ii) mh_n = [2^n (1 + 2i + 4\varepsilon + 8h) + (1 + i + \varepsilon + h)] \text{ (see[15])}. \quad (3)$$

The sum of the $\{mh_n\}_{n=0}^{\infty}$ as follows [15].

$$\sum_{k=0}^n mh_k = 2mh_n + n - 2 + (n - 3)i + (n - 5)\varepsilon + (n - 9)h.$$

The sum of the $\{MH_n\}_{n=0}^{\infty}$ as follows [14].

$$\sum_{k=0}^n MH_k = 2MH_n - (n + (n + 1)i + (n + 3)\varepsilon + (n + 7)h). \quad (4)$$

By the following identities between the Mersenne hybrid number, Jacobsthal hybrid numbers and Jacobsthal-Lucas hybrid numbers are provided [14]:

$$i) MH_n + MH_{n+1} = 3(JH_n + JH_{n+1}) - 2(1 + i + \varepsilon + h), \quad (5)$$

$$ii) MH_n + MH_{n+1} = jH_n + jH_{n+1} - 2(1 + i + \varepsilon + h). \quad (6)$$

By the following identities between Mersenne-Lucas hybrid number, Jacobsthal hybrid numbers and Jacobsthal-Lucas hybrid numbers are provided [15]:

$$i) mh_n + mh_{n+1} = 3(JH_n + JH_{n+1}) + 2(1 + i + \varepsilon + h),$$

$$ii) mh_n + mh_{n+1} = jH_n + jH_{n+1} + 2 + 3i + 5\varepsilon + 5h.$$

There is a relationship between Mersenne-Lucas hybrid numbers and Mersenne hybrid numbers [15]:

$$mh_n = 2MH_{n+1} - 3MH_n.$$

3 Mersenne, Mersenne-Lucas hybrid quaternion

In this section, we introduce some properties Mersenne, Mersenne-Lucas hybrid quaternion. We find some relations between Mersenne-Lucas hybrid quaternion, Jacobsthal hybrid quaternion, Jacobsthal-Lucas hybrid quaternion and Mersenne hybrid quaternion.

Definition 1. *The Mersenne hybrid quaternion is defined as follows:*

$$MHQ_n = MH_n + MH_{n+1}i + MH_{n+2}j + MH_{n+3}k$$

where i, j, k are quaternion units (see Table 1) and MH_n is n th Mersenne hybrid number [3].

The Mersenne hybrid quaternion can be written as follows:

$$MHQ_n = MQ_n + MQ_{n+1}i + MQ_{n+2}\varepsilon + MQ_{n+3}h$$

where i, ε, h are hybrid units(see Table 2) and MQ_n is n th the Mersenne quaternion number [3], which is defined by

$$MQ_n = M_n + iM_{n+1} + jM_{n+2} + kM_{n+3}h.$$

Definition 2. *The Mersenne-Lucas hybrid quaternion is defined as follows:*

$$mhq_n = mh_n + mh_{n+1}i + mh_{n+2}j + mh_{n+3}k$$

where i, j, k are quaternion unit and mh_n is n th the Mersenne-Lucas hybrid number [3].

The Mersenne-Lucas hybrid quaternion can be written as follows:

$$mhq_n = mq_n + mq_{n+1}i + mq_{n+2}\varepsilon + mq_{n+3}h$$

where i, ε, h are hybrid unit and mq_n is n th the Mersenne-Lucas quaternion number [3], which is defined by

$$mq_n = m_n + im_{n+1} + jm_{n+2} + km_{n+3}$$

We will use the Definition 1 and Definition 2 in this study.

Theorem 1. *The Binet's formula of the Mersenne and Mersenne-Lucas hybrid quaternion are defined by*

$$\mathbf{a.} \quad MHQ_n = 2^n \underline{2}\bar{2} - \underline{1}\bar{1},$$

$$\mathbf{b.} \quad mhq_n = 2^n \underline{2}\bar{2} + \underline{1}\bar{1},$$

where

$$\begin{aligned} \bar{2} &= 1 + 2i + 4j + 8k, \quad \underline{2} = 1 + 2i + 4\varepsilon + 8h, \\ \bar{1} &= 1 + i + j + k, \quad \underline{1} = 1 + i + \varepsilon + h. \end{aligned}$$

Proof. By using Eq. (2), we have

$$\begin{aligned} \mathbf{a.} \quad MHQ_n &= MH_n + MH_{n+1}i + MH_{n+2}j + MH_{n+3}k \\ &= [2^n (1 + 2i + 4\varepsilon + 8h) - (1 + i + \varepsilon + h)] \\ &\quad + [2^{n+1} (1 + 2i + 4\varepsilon + 8h) - (1 + i + \varepsilon + h)] i \\ &\quad + [2^{n+2} (1 + 2i + 4\varepsilon + 8h) - (1 + i + \varepsilon + h)] j \\ &\quad + [2^{n+3} (1 + 2i + 4\varepsilon + 8h) - (1 + i + \varepsilon + h)] k \\ &= (2^n \underline{2} - \underline{1}) + (2^{n+1} \underline{2} - \underline{1}) i + (2^{n+2} \underline{2} - \underline{1}) j + (2^{n+3} \underline{2} - \underline{1}) k \\ &= 2^n \underline{2} - \underline{1} + 2^{n+1} \underline{2} i - \underline{1} i + 2^{n+2} \underline{2} j - \underline{1} j + 2^{n+3} \underline{2} k - \underline{1} k \\ &= 2^n \underline{2} (1 + 2i + 4j + 8k) - \underline{1} (1 + i + j + k) \\ &= 2^n \underline{2}\bar{2} - \underline{1}\bar{1}. \end{aligned}$$

Thus, the proof is completed.

The proof of **b** is done similarly to **a**. □

Theorem 2. *The recurrence relation of the Mersenne, Mersenne-Lucas hybrid quaternion as follows:*

$$mhq_{n+2} = 3mhq_{n+1} - 2mhq_n$$

for $n \geq 0$.

Proof. We will use Eq. (1) for the proof. We have

$$\begin{aligned}
 mhq_{n+2} &= mhq_{n+2} + mhq_{n+3}i + mhq_{n+4}j + mhq_{n+5}k \\
 &= 3mh_{n+1} - 2mh_n + (3mh_{n+2} - 2mh_{n+1})i \\
 &\quad + (3mh_{n+3} - 2mh_{n+2})j + (3mh_{n+4} - 2mh_{n+3})k \\
 &= 3(mh_{n+1} + mh_{n+2}i + mh_{n+3}j + mh_{n+4}k) \\
 &\quad - 2(mh_n + mh_{n+1}i + mh_{n+2}j + mh_{n+3}k) \\
 &= 3mhq_{n+1} - 2mhq_n.
 \end{aligned}$$

Thus, the proof is completed. \square

Theorem 3. *The generating functions of the Mersenne, Mersenne-Lucas hybrid quaternion are*

$$\begin{aligned}
 \mathbf{a.} \quad \sum_{n=0}^{\infty} MHQ_n x^n &= \frac{MHQ_0 + x(MHQ_1 - 3MHQ_0)}{1 - 3x - 2x^2}, \\
 \mathbf{b.} \quad \sum_{n=0}^{\infty} mhq_n x^n &= \frac{mhq_0 + x(mhq_1 - 3mhq_0)}{1 - 3x - 2x^2}.
 \end{aligned}$$

Proof. **a.** Suppose that the generating function of the Mersenne hybrid quaternion sequence has the form

$$G(x) = \sum_{n=0}^{\infty} MHQ_n x^n = MHQ_0 + MHQ_1 x + MHQ_2 x^2 + \cdots + MHQ_n x^n + \cdots$$

Then, we have

$$\begin{aligned}
 -3xG(x) &= MHQ_0 3x - MHQ_1 3x^2 - MHQ_2 3x^3 - \cdots - MHQ_n 3x^{n+1} - \cdots \\
 2x^2 G(x) &= MHQ_0 2x^2 + MHQ_1 2x^3 + MHQ_2 2x^4 + \cdots + MHQ_n 2x^{n+2} + \cdots
 \end{aligned}$$

It follows that

$$\begin{aligned}
 G(x)(1 - 3x - 2x^2) &= MHQ_0 + x(MHQ_1 - 3MHQ_0) \\
 &\quad + x^2(MHQ_2 - 3MHQ_1 + 2MHQ_0) \\
 &\quad + x^3(MHQ_3 - 3MHQ_2 + 2MHQ_1).
 \end{aligned}$$

If necessary calculations are taken, the desired will be achieved:

$$G(x) = \frac{MHQ_0 + x(MHQ_1 - 3MHQ_0)}{1 - 3x - 2x^2}.$$

Thus, the proof is completed. The proof for **b** is done similarly. \square

Theorem 4. *The exponential generating functions of the Mersenne, Mersenne-Lucas hybrid quaternions are given by*

$$\mathbf{a.} \quad \sum_{n=0}^{\infty} MHQ_n \frac{x^n}{n!} = (\underline{2}\bar{2} e^x - \underline{1}\bar{1}) e^x,$$

$$\mathbf{b.} \quad \sum_{n=0}^{\infty} mhq_n \frac{x^n}{n!} = (\underline{2}\bar{2} e^x + \underline{1}\bar{1}) e^x.$$

Proof.

$$\begin{aligned} \mathbf{a.} \quad \sum_{n=0}^{\infty} MHQ_n \frac{x^n}{n!} &= \sum_{n=0}^{\infty} (2^n \underline{2}\bar{2} - \underline{1}\bar{1}) \frac{x^n}{n!} \\ &= \underline{2}\bar{2} \sum_{n=0}^{\infty} \frac{(2x)^n}{n!} - \underline{1}\bar{1} \sum_{n=0}^{\infty} \frac{x^n}{n!} \\ &= \underline{2}\bar{2} e^{2x} - \underline{1}\bar{1} e^x \\ &= (\underline{2} \bar{2} e^x - \underline{1}\bar{1}) e^x. \end{aligned}$$

Thus, the proof is completed.

The proof for **b** is done similarly. □

Theorem 5. *The sum of the Mersenne, Mersenne-Lucas hybrid quaternions are given by*

$$\begin{aligned} \mathbf{a.} \quad \sum_{k=0}^n MHQ_k &= 2MHQ_n - \underline{n} - Ai - Bj - Ck, \\ \mathbf{b.} \quad \sum_{k=0}^n mhq_k &= 2mhq_n + \overline{(n-2)} + A^*i + B^*j + C^*k, \end{aligned}$$

where

1. $\underline{n} = n + (n + 1)i + (n + 3)\varepsilon + (n + 7)h,$
2. $\bar{n} = n + (n - 1)i + (n - 3)\varepsilon + (n - 7)h,$
3. $A = \underline{(n + 1)} + MH_0, \quad B = \underline{(n + 2)} + MH_0 + MH_1,$
 $C = \underline{(n + 3)}MH_0 + MH_1 + \underline{MH_2},$
4. $A^* = \overline{(n - 1)} - mh_0, \quad B^* = \overline{(n - 2)} - mh_0 - mh_1,$
 $C^* = \overline{(n - 3)} - mh_0 - mh_1 - mh_2.$

Proof. Let us write

$$\mathbf{a.} \quad \sum_{k=0}^n MHQ_k = MHQ_0 + MHQ_1 + MHQ_2 + \dots + MHQ_n.$$

So, we deduce

$$\begin{aligned} \sum_{k=0}^n MHQ_k &= (MH_0 + MH_1i + MH_2j + MH_3k) + (MH_1 + MH_2i \\ &\quad + MH_3j + MH_4k) + \cdots + (MH_n + MH_{n+1}i + MH_{n+2}j \\ &\quad + MQ_{n+3}k) \\ &= (MH_0 + MH_1 + \cdots + MH_n) + (MH_1 + \cdots + MH_{n+1})i \\ &\quad + (MH_2 + \cdots + MH_{n+2})j + (MH_3 + \cdots + MH_{n+3})k. \end{aligned}$$

From Eq. (4), we have

$$\begin{aligned} \sum_{k=0}^n MHQ_k &= [2MH_n - (n + (n+1)i + (n+3)\varepsilon + (n+7)h)] \\ &\quad + [2MH_{n+1} - (n+1 + (n+2)i + (n+4)\varepsilon + (n+8)h) - MH_0]i \\ &\quad + [2MH_{n+2} - (n+2 + (n+3)i + (n+5)\varepsilon + (n+9)h) - MH_0 - MH_1]j \\ &\quad + [2MH_{n+3} - (n+3 + (n+4)i + (n+6)\varepsilon + (n+10)h) - MH_0 - MH_1 \\ &\quad \quad - MH_2]k \\ &= 2(MH_n + MH_{n+1}i + MH_{n+2}j + MH_{n+3}k) - \underline{n} + (-(n+1)i - MH_0) \\ &\quad + (-(n+2) - MH_0 - MH_1)j + (-(n+3) - MH_0 - MH_1 - MH_2)k \\ &= 2MHQ_n - \underline{n} - Ai - Bj - Ck. \end{aligned}$$

Thus, the proof is completed.

Similarly, the proof of \mathbf{b} is can be done. □

Theorem 6. *The following equation is provided:*

$$MHQ_{n+1} = 2MHQ_n + \underline{1} \bar{1}.$$

Proof. From Theorem 1. \mathbf{a} , we have

$$\begin{aligned} 2MHQ_n + \underline{1} \bar{1} &= 2(2^n \underline{2}\bar{2} - \underline{1}\bar{1}) + \underline{1} \bar{1} \\ &= 2^{n+1}\underline{2}\bar{2} - 2\underline{1}\bar{1} + \underline{1} \bar{1} \\ &= 2^{n+1}\underline{2}\bar{2} - \underline{1}\bar{1} \\ &= MHQ_{n+1}. \end{aligned}$$

Thus, the proof is completed. □

Theorem 7. *The following equations are provided:*

- a.* if n even, $MHQ_n + MHQ_{n+1} = 3(JHQ_n + JHQ_{n+1}) - 2 \underline{1} \bar{1}$,
- b.* if n odd, $MHQ_n + MHQ_{n+1} = jHQ_n + jHQ_{n+1} - 2 \underline{1} \bar{1}$,
- c.* if n even, $mhq_n + mhq_{n+1} = 3(JHQ_n + JHQ_{n+1}) + 2 \underline{1} \bar{1}$,
- d.* if n odd, $mhq_n + mhq_{n+1} = jHQ_n + jHQ_{n+1} - 2 \underline{1} \bar{1}$.

Proof. **a.** if n is even , by using Eq.(5), we have

$$\begin{aligned}
 MHQ_n + MHQ_{n+1} &= MH_n + MH_{n+1}i + MH_{n+2}j + MH_{n+3}k \\
 &\quad + MH_{n+1} + MH_{n+2}i + MH_{n+3}j + MH_{n+4}k \\
 &= (3(JH_n + JH_{n+1}) - 2 \underline{1}) + (3(JH_{n+1} + JH_{n+2}) - 2 \underline{1})i \\
 &\quad + (3(JH_{n+2} + JH_{n+3}) - 2 \underline{1})j \\
 &\quad + (3(JH_{n+3} + JH_{n+4}) - 2 \underline{1})k \\
 &= 3JHQ_n + 3JHQ_{n+1} - 2 \underline{1} (1 + i + j + k) \\
 &= 3(JHQ_n + JHQ_{n+1}) - 2 \underline{1} \bar{1}.
 \end{aligned}$$

Thus, the proof is completed.

The other options of the theorem can be shown similarly. \square

4 Conclusion

In this work, we are discussed the Mersenne and Mersenne-Lucas hybrid quaternions and their properties. We obtained the Binet's formula, the generating functions, exponential generating functions and sum formulas of these numbers. Additionally, we find some relations between Mersenne-Lucas hybrid quaternion, Jacobsthal hybrid quaternion, Jacobsthal-Lucas hybrid quaternion and Mersenne hybrid quaternion.

5 Acknowledgement

The authors thank the editor and referees for helpful comments and advice.

References

- [1] Catarino, P., Campos, H. and Vasco, P., *On the Mersenne sequence*, CM-Centro de Matemática, **46** (2016), 37-53.
- [2] Dağdeviren, A. and Kürüz, F., (2020). *On The Horadam Hybrid Quaternions*, arXiv preprint arXiv:2012.08277.
- [3] Devi, B.M. and Devibala, S. (2022). *On the Mersenne and Mersenne-Lucas hybrid quaternion*, Advances and Applications in Mathematical Sciences, **21** (2022), no. 8, 4585-4594.
- [4] Frontczak, R. and Goy, T.P., *Mersenne-Horadam identities using generating functions*. Carpathian Math. Publi. **12** (2020), no. 1, 34-45.
- [5] Hamilton, W.R., *Elements of quaternions*, London: Longmans, Green, & Company 1866.

- [6] Özdemir M., *Introduction to hybrid numbers*, Adv. Appl. Clifford Algebr. **28** (2018), 1-32.
- [7] Özkan, E. and Uysal, M., *On hyperbolic k -Jacobsthal and k -Jacobsthal–Lucas octonions*, Notes on Number Theory and Discrete Mathematics, **28** (2022), no. 2, 318-330.
- [8] Özkan, E. and Uysal, M., *Mersenne-Lucas hybrid-numbers*, Mathematica Montisnigri **52** (2021), no. 2, 17-29.
- [9] Özkan, E. and Uysal, M., *On quaternions with higher order Jacobsthal numbers components*, Gazi University Journal of Science, **36** (2023), no. 1, 336-347.
- [10] Özkan, E., Uysal, M. and Godase, A.D., *Hyperbolic k -Jacobsthal and k -Jacobsthal-Lucas Quaternions*, Indian J. Pure Appl. Math. **53** (2021), no. 4, 956-967.
- [11] Saba, N., Boussayoud, A. and Kanuri K.V.V., *Mersenne Lucas numbers and complete homogeneous symmetric functions*, Journal of Mathematics and Computer Science, **24** (2021), no. 2, 127-139.
- [12] Sloane, N.J.A., *The On-Line Encyclopedia of Integer Sequences*, <https://oeis.org/A000225>, Sequence A000225.
- [13] Soykan, Y., *A study on generalized Mersenne numbers*. Journal of Progressive Research in Mathematics, **18** (2021), no. 3, 90-112.
- [14] Taşcı, D. and Sevgi, E., *Some Properties between Mersenne, Jacobsthal and Jacobsthal-Lucas hybrid numbers*, Chaos, Solitons Fractals, **146** (2021), no. 110862.
- [15] Uysal, M. and Özkan, E., *Padovan hybrid quaternions and some properties*, Journal of Science and Arts, **22** (2022), no. 1, 121-132.